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- 1) What is the mean, median, mode and range of the following set of data?

a) 18, 16201 18, M, 26, 16

)19, 16 1k g, 20, 26
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Pﬂ 2-75 Page 273-275
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Test Tomorrow (Some good Test questions)

1) Find the mean, median, mode and range of the following:
a) 16, 27, 28,17 b) B.8B.EA

,Q2, 27 2% $15,6,7, %

Mean= % - :& -5- = 1
med:an= 6 ‘
Median s 11223 =W _ 5 <
z 2 mode = S i
Mmode  none R ¢-$=3
Range = 28-160= |5 ange = B
2) The find the value of Ted's 5th test mark if he wants his MEAN to be
89% given his other test results to be 75%, 98%, 100%, 80%. 35')
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A good test question

The counters in a bag are sorted by colour

Colour Number of

Counters
|'_'I'.E!I:| 7 Teeeeer
Yellow 18yyyy y Y YYYIYYYYYIYY
[:]rarlge 16 000000000000 oL
(areen 11
Black 13

a) How many counters are in the bag? 6 6

b) What is the mean number of counters? :%s—ils

¢) What is the mode colour? How do you know?y_gu_\L h} most
qun s
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Page 278 # 1(a,b), #, #3(a,b,c.4), #4m#p

Test CT}N fsdoj , 5":‘9

Topics: Mean, Median, Mode, Range, Outliers

8 Multiple Choice
3 Short Response
(VERY similar To wamp ups)
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LESSOM

2.

EE 3.

of the students in a Grade 7 class:

162,154,166,159,170, 168,158, 162,

172,166,157,170,171,165,162,170,

153,167,164, 169,167,173,170

a) Find the mean, median, and
mode heights.

b) What is the range of the heights?

The mean of five numbers is 20.
The median is 23.

What might the numbers be?
Find 2 different sets of data.

The cost of hotel rooms at Stay in
Comfort range from $49 to $229 per
night. Here are the rates charged, in
dollars, for one particular night:
70,75, 85,65, 75,90, 70, 75,60, 80,95,
85,75,20,65,229
a) Calculate the mean, median,
and mode costs.
b) Identify the outliers.
How can you explain these costs?
¢) Calculate the mean, median, and
mode costs without the outliers.
How is each average affected
when the outliers are not
included?
d) Should the outliers be used
when reporting the average cost
of a hotel room? Explain.

B 1. Here are the heights, in centimetres, 4 4.
Bz

A quality control inspector
measures the masses of boxes of
raisins. He wants to know if the
average mass of a box of raisins is
100 g. The inspector randomly
chooses boxes of raisins.

The masses, in grams, are:

99.1,101.7,99.8,98.9,100.8,100.3,

98.3,100.0,97.8,97.6,98.5,101.7,
100.2,100.2,99.4,100.3,98.8,102.0,
100.3,98.0,99.4,99.0,98.1,101.8,
99.8,101.3,100.5,100.7,98.7,100.3,

99.3,1025

a) Calculate the mean, median, and
mode masses.

b) For the shipment to be approved,
the average mass of a box of
raisins must be at least 100 g.
Which average could someone
use to describe this shipment to
get it approved? Explain.

Is each conclusion true or false?

Explain.

a) The mode number of books
read last month by students in
James’ class is 5. Therefore, most
of the students read 5 books.

b) A random sample of 100 people
had a mean income of $35 000.
Therefore, a random sample of
200 people would have a mean
income of $70 000.
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1l
97.6,97.9,9%.0,9%./,9%.3 98,5, 9%.]
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